DEPARTMENT OF PURCHASING AND CONTRACTS



15470 FLIGHT PATH DRIVE ◆ BROOKSVILLE, FLORIDA 34604

P 352.754.4020 ◆ F 352.754.4199 ◆ W www.HernandoCounty.us

AMENDMENT NO. TWO (2)

TO

CONTRACT NO. 23-C00002/DK

FOR

MULTI SIDEWALK REPAIRS

The SECOND AMENDMENT, effective as of the last day signed by both parties, is made and entered into by and between Hernando County, a political subdivision of the State of Florida, hereafter referred to as (the "COUNTY"), and AJ General Construction Services, Inc., hereinafter referred to as (the "Vendor/Contractor").

WHEREAS, the Parties entered into a certain Construction agreement dated May 23, 2023, pursuant to the County's Invitation to Bid (ITB) Contract No.: 23-C00002/DK.

WHEREAS, it has come to the attention of the Parties that the Solicitation Offer and Award page one (1) and Amendment One (1) of the contract contained a scrivener's error and the Parties wish to enter into this Amendment to correct such error.

WHEREAS, the parties wish to further amend the Agreement to amend the scope of work and pricing table. The revisions to the scope are listed under paragraph three (3).

NOW THEREFORE, in consideration of the foregoing recitals, the Contract and other good and valuable consideration, the receipt and sufficiency of which are hereby acknowledged, the parties mutually agree as follows:

- 1. Recitals. The recitals set forth hereinabove are true and correct and are incorporated herein by reference.
- Correct Contract Number in "SOLICITATION-OFFER-AWARD" on page 1 of executed contract to replace "AP" with "DK":

SOLICITATION - OFFER - AWARD SOLICITATION NO CONTRACT NO: 23-C00002/APDK MULTI SIDEWALK **FEBRUARY 15, 2023** 23-C00002/APDK **REPAIRS BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY** HERNANDO COUNTY, FLORIDA **PURCHASING AND CONTRACTS** John Allocco, Chairman 15470 FLIGHT PATH DRIVE Elizabeth Narverud, Vice Chairman BROOKSVILLE, FL 34604 Toni Brady Steve Champion, Second Vice Chairman Chief Procurement Officer Jerry Campbell Brian Hawkins

3. Correct Contract Number in executed document "Amendment One (1)" to replace "AP" with "DK":

AMENDMENT NO. ONE (1)

TO

CONTRACT NO. 23-C00002/APDK

FOR

Multi Sidewalk Repairs

The following changes are hereby made a part of the Contract Documents for CONTRACT NO. 23-C00002/APDK for MULTI SIDEWALK REPAIRS, located in Hernando County, as fully and completely as if the same were fully set forth

Revise Document Header to remove the word "sample":
 BOARD OF COUNTY COMMISSIONERS
 HERNANDO COUNTY, FLORIDA
 SAMPLE CONSTRUCTION AGREEMENT

2. Add company name to the contract: "This Contract, entered into this 23rd day of May, 2023, by and between the Hernando County Board of County Commissioners, hereafter called the COUNTY, and AJ General Construction Services, Inc. hereinafter called the VENDOR/CONTRACTOR. Owner and Vendor/Contractor, in consideration of the mutual covenants hereinafter set forth, agree as follow:

MUL TI SIDEWALK REPAIRS

1TB NO. 23-C00002/APDK

4. Revise the services contained within the "Price Tables", listed in Article (4)-(Contract Price) of the Construction Agreement as follows:

Item#	DESCRIPTION OF WORK	SY	SCHEDULED	SCHEDULED	TOTAL
		_	QUANTITY	UNIT	
1	5456 Deltona Blvd	SY	61.11	\$149.59	\$ 9,141.44
2	5428 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
3	5412 Deltona Blvd	SY	2.78	\$149.59	\$ 415.86
4	5227 Deltona Blvd	SY	2.78	\$149.59	\$ 415.86
5	5269 Deltona Blvd	SY	2.78	\$149.59	\$ 415.86
6	5259 Deltona Blvd	SY	13.33	\$149.59	\$ 1,994.03
7	5237 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
8	5405 Deltona Blvd	SY	16.67	\$149.59	\$ 2,493.67
9	5421 Deltona Blvd	SY	22.22	\$149.59	\$ 3,323.89
10	2044 Deltona Blvd	SY	8.33	\$149.59	\$ 1,246.08
11	2044 Deltona Blvd	SY	16.00	\$149.59	\$ 2,393.44
12	2028 Deltona Blvd	SY	16.67	\$149.59	\$ 2,493.67
13	2020 Deltona Blvd	SY	3.33	\$149.59	\$ 498.13
14	2012 Deltona Blvd	SY	6.67	\$149.59	\$ 997.77
15	1562 Deltona Blvd	SY	5.56	\$149.59	\$ 831.72
16	1552 Deltona Blvd	SY	4.44	\$149.59	\$ 664.18
17	1474 Deltona Blvd	SY	7.22	\$149.59	\$ 1,080.04
18	5099 Deltona Blvd	SY	30.56	\$149.59	\$ 4,571.47
19	5083 Deltona Blvd	SY	5.56	\$149.59	\$ 831.72

20	ACOT Dellers Blad	CV	44.00	4440 FO	
20	4637 Deltona Blvd	SY	14.22	\$149.59	\$ 2,127.17
21	4565 Deltona Blvd	SY	4.44	\$149.59	\$ 664.18
22	4525 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
23	4387 Deltona Blvd	SY	31.11	\$149.59	\$ 4,653.74
24	5217 Deltona Blvd	SY	13.89	\$149.59	\$ 2,077.81
25	5203 Deltona Blvd	SY	14.22	\$149.59	\$ 2,127.17
26	5171 Deltona Blvd	SY	2.78	\$149.59	\$ 415.86
27	5155 Deltona Blvd	SY	3.33	\$149.59	\$ 498.13
28	5155 Deltona Blvd	SY	13.89	\$149.59	\$ 2,077.81
29	5137 Deltona Blvd	SY	6.67	\$149.59	\$ 997.77
30	4174 Deltona Blvd	SY	15.56	\$149.59	\$ 2,327.62
31	4174 Deltona Blvd	SY	16.67	\$149.59	\$ 2,493.67
32	4230 Deltona Blvd	SY	4.44	\$149.59	\$ 664.18
33	4250 Deltona Blvd	SY	4.44	\$149.59	\$ 664.18
34	4278 Deltona Blvd	SY	17.78	\$149.59	\$ 2,659.71
35	4328 Deltona Blvd	SY	6.67	\$149.59	\$ 997.77
36	4338 Deltona Blvd	SY	22.22	\$149.59	\$ 3,323.89
37	4251 Deltona Blvd	SY	22.22	\$149.59	\$ 3,323.89
38	4199 Deltona Blvd	SY	5.33	\$149.59	\$ 797.31
39	4173 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
40	4153 Deltona Blvd	SY	16.67	\$149.59	\$ 2,493.67
41	4075 Deltona Blvd	SY	69.44	\$149.59	\$ 10,387.53
42	4580 Deltona Blvd	SY	8.00	\$149.59	\$ 1,196.72
43	4526 Deltona Blvd	SY	8.89	\$149.59	\$ 1,329.86
44	4496 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
45	4488 Deltona Blvd	SY	6.67	\$149.59	\$ 997.77
46	4442 Deltona Blvd	SY	4.44	\$149.59	\$ 664.18
47	4434 Deltona Blvd	SY	20.00	\$149.59	\$ 2,991.80
48	4273 Deltona Blvd	SY	22.22	\$149.59	\$ 3,323.89
49	4329 Deltona Blvd	SY	13.33	\$149.59	\$ 1,994.03
50	4338 Deltona Blvd	SY	16.67	\$149.59	\$ 2,493.67
51	4339 Deltona Blvd	SY	26.67	\$149.59	\$ 3,989.57
52	4386 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
53	4387 Deltona Blvd	SY	5.56	\$149.59	\$ 831.72
54	4387 Deltona Blvd	SY	22.22	\$149.59	\$ 3,323.89
55	4387 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
56	4387 Deltona Blvd	SY	8.33	\$149.59	\$ 1,246.08
57	4387 Deltona Blvd	SY	11.11	\$149.59	\$ 1,661.94
58	4400 Deltona Blvd	SY	8.33	\$149.59	\$ 1,246.08
59	4400 Deltona Blvd	SY	25.00	\$149.59	\$ 3,739.75
60	4400 Deltona Blvd	SY	82.22	\$149.59	\$ 12,299.29
		0	899.43	-	\$ 134,545.73

- 5. Except as expressly modified by Amendment #2, all other terms and conditions of the original Agreement and Amendment #1 emain in full force and effect for the term of the Agreement.
- 6. This Amendment may be executed in counterparts, each of which shall be deemed to be an original instrument, but all such counterparts together shall constitute one and the same instrument.

IN WITNESS WHEREOF, the parties hereto have made and executed this Amendment on the day and year listed below.

AJ GENERAL CONSTRUCTION SERVICES	BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY
Ima Leares	
Authorized Signature	John Allocco
Print Name Irma Juarez	Chairman, Hernando County Board of County Commissioners
Title: President	County Commissioners
Date: 09/15/2023	Date:
Attest:	Attest:
Title: Project Manager	Douglas A. Chorvat, Jr. Clerk of Circuit Court & Comptroller
	Approved As To Form And Legal Sufficiency
	By Victoria Anderson County Attorney's Office
	Oddity Attorney 3 Office